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I. Determine if frue or false for each of the following statements (5 points each) ’
1. T Thederivative of y=6-¢is y' =¢™* LQ
/2._F _ The derivative of y = Ln(x—4)* is ¥ =iLn(x-4)"*
3. T If s(t) is the function of position of an object in motion, then a(t)=s""(1) is equal to the
)dncﬁon of the acceleration of the object.
4. T Ifthe velocity of the caris a function of time, then the derivative of this function with
respect to time, describes the acceleration of the car.
II. Circle the right answer. (10 point each) 50
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2.(_A\ ) The derivative for y = Lny2x -4 is: Slhix €
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3.(_P\ ) Ifthe equation that gives the velocity of an object is v(r) = 2¢%¢” , then the equation that
gives the acceleration is:
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lll. Answer the following questions.
3-2x

1) Find the SLOPE of the line tangentto y = ;776 at x= % (20 points)
ints

3-2x y 3-2:
v=e We=2er
V=D }@

V;(D
U's o - 22 - ¢ k0D

b
%': . ‘2,613- 2x

36 /
32U 27 - "E

) T i
e =

>

TR
3

1y
2) Find the derivative of f(x)=(2x—])(15 points)
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3) Find the derivative g(x)=3x"+ lx +In(4x* +3)+e
€ (15 points)
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